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(Third Semester)
BUSINESS STATISTICS—I
BC-304

Time : Three Hours ( ' Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is -
compulsory. All questions carry equal marks.

. (i) What is classification of Data ?
| (ii) Explain any three functions of statistics.
(iii) Define mean.
(1v) What is standard deviation ?
(v) Explain utility of Regression.
(vi) Distinguish between simple, multiple and

partial correlation.
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4. What is Kurtosis ? How is it measured ? 4,12

(vi1) What ate ;the THRE  uses | didex 3. Discuss the utility and limitations of graphic:
2 3 G : B
W ¢ . method of presentation of statistical data. 16

(viii) Chain Base Index Number. 8x2=16 :
6. Calculate Karl Pearson's coefficient.  of

2, What is Statistics ? Explain the uses and G correlation for the following distribution - 16
importance of statistics in bu51ne§s world W, . ( Y | X 200-300 300400 400-500 500-600 600-700
- suitable examples. 4,12 e '
1S . £l 3 T
3. From the data givch below, find the mean, A8 qsbplcaa it 4 9 4 '. 3
median and mode : ' 16 . 20-25 7 6 12 5 —r i
Marks No. of Students fEiva. 03530 3 10 19 8 oy
1-5 7 ) L
Lo : i 7. You are given the following information,:
X Y
11-15 16 : g :
Arithmetic Mean - 5 12
16-20 30 : i
‘Standard deviation 7.6 - O
21425 24 ' - Gl - L
( (  Correlation coefficient. 7 = 0.7 i
26-30 17 .
i) Obtain two regression equations
31135 10 @) | gr qna s
(i) Estimate Y when X = 9 9
36-40 5 _ | | - ¢
(a11) "Estimate X when Y= 12000 16
41-45 1 _ g
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8. What are Index Numbers ? Explain the various
problems faced in construction of Index

Numbers ? 4,12

9. Using suitable formula construct the price index

number from the folﬁlowing data :

Commodity 1990 1995 (

Price Expenditure Price Expenditure

A 1.00  60.00 125 670
B 1450, 37.50 2,50 50.00
c 200 20.00 3,00 30.00
D 12.00  36.00 18.00  72.00
E 0.10  4.00 0.15  9.00

Check whether it satisfies time reversal and

factor reversal test. ; 16

(Hindi Version) (
M : FA WA I H SW G IR F. 1
Ared 2 1 gft wel & o T ¥

1. () otws w1 o s ¥ 2
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(i) wiferwt & f&=l d= @& & a0 #
ERIELa :

(iii) @=a i gRWfva =SS |

(iv) 7o foeem @ 7 2

(v) WAl I SRy |

(vi) &, @gUi @R orfee wewerw A
3R AR |

(vii) GoiHl & g ITEm w@m T 2

(viil) S@en SHR Feehid | 8x2=16

0. wifers | w1 wfuayE B 2 wiemsr &
IR qeN Wew SEEV W WHARU |

4,12

3. ﬁﬁﬁﬁnﬂwﬁﬁnm,ﬁw,w

A wifore 16
s o @ wen
15 g
6-10 10
11-15 16
16-20 £ 300
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21-25 24

26-30 { 17
31-35 10
36-40 5
41-45 e b

4. ggsﬁsfaﬁwmf% 73@@@1%@%
TR 2 _ B 12

S.Wﬁ?m#i‘@ﬁiwmaﬁ
' rmﬁmﬁmﬁmﬁmaﬁhﬁm‘rm

6.%%@%%-@%—&
OE H T s . 16

Y | X 200-300 300-400 400-500 500-600 600-700

10:35. i il 13 7

15:90" v i 4 9 4 3

20-25 7 6 12 5 S

2590 3 10 19 8 i
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7. o feEfdfen geE f oW owr ¥

X Y
AR H1Eq 5 12
A9 o= 2.6 3.6
HEHEY T r=07

(i) aiﬁcrmmﬂmﬁﬁww
() Y F1 AFAN Y F& X = 9
(i) X' &1 A &MET S& Y =12, 16

8. WAF® HM TW € ? yEeklw WA § fa
REAS H W FT ved@ ¥ 2 402

9. mﬁawwmaww
ﬁmaﬂﬁm

T 1990 1995
o A Eapn) =g
T 00 60.00 1.25 62.50
off 1150 37.50 2.50 50.00
il P s ) 3.00 30.00
<t 1200 -~ 36.00 18.00 - 72.00
3 610 400 0.15 9.00
S HwifGw = g7 A e ?E’ GEI
bR flada 3= w1 e ST R ke
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